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Instructions : _

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)

220

All questions are compulsory.

Question Nos. 1 to 4 are objective type. Carries total 20 marks.

Question Nos. § to 7, each question carries 2 marks. (word limit 30 words)
Question Nos. 8 to 10, each question carries 3 marks. (word limit 75 words)
Question Nos. 11 to 15, each question carries 4 marks. (word limit 120 words)
Question Nos. 16 to 18, each question carries 5 marks. (word limit 150 words)

Internal choice is given in every question from Question Nos. § to 18:

/ E-235 T AR PT.O.



8l famea gﬁz‘r : 1x5=5

(i)

(ii)

(iii)

(iv)

(v)
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i sge CsCl § afe @iy smaq Cs* @ guw<g d@n 8 &)
ar FEs onEE Cl- @) 999 §em Brly —

(a) 8 (b) 4
© 6 d 12

aftpa T o wiufes o @ erfusier wiear o ufafew s & -
(a) afusiva (b) erfsis
(c) orasiye® (d) e

AT TAT 3AW6 Bl TH BT U BEA SIS Had B ¢ | Hrfeaent
¥ 39 WhH Bl BEd & —

(@) WA (b) & qAEH

(c) Fremos (d) WA

EEEEEEE gdee I ¥ -
(@ 1° TdH (b) T
(c) 2° wdA | CVIREAHUBELLIE]

3y 7 Sufyd sEA%USS ¢ -
(2) Yo (b) T
(c) Hwed ) dgerE
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Choose correct option :

(i) If the coordination number of cesium ion Cs* in Cesium chloride is 8,

then the coordination number of chloride ion will be -
(@) 8 (b)y 4

(c) 6 d) 12

(i) In the adsorption process of acetic acid in activated charcoal,

acetic acid 1s —
(a) adsorbent (b) adsorbate

(c) absorbent (d) absorbate

(iii) Carbon dioxide is released on heating lime stone ore, in metallurgy.

This is called —
(a) Smelting (b) Ore dressing

(¢) Calcination (d) Roasting

(iv) The isocyanide test is given by -
(a) 1° amine (b) phenol

(¢) 2° amine (d) triethylamine

(v) The disaccharide present in milk is -
(a) sucrose (b) lactose

(¢) maltose . (d) cellulose
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2 R e afg 1x5=5

(i) Tt sraeen & Qifsey awgs & fagg o gaws 89 @ &Ry
D

(i) HeHURUZE _ ° W O T ¢

(iii) 99T GRGIG arsq orewem ® Hged T@dr B

(iv) [Co(NH,),CLICI dga g1 s ¥ Ru T o ommai & @
3 |

(v) GﬁTE_TF{ef.QEFﬁEE _ B %1

Fill in the blanks :

(1) - are the reason for the electrical conductance of sodium

chloride in molten state.
(i1) Calcopyrites is the main ore of _ metal.
(iii) White phosphorus possesses composition in vapour state.

(iv) The total number of ions provided by the complex [Co(NH;),Cl,]Cl in

water is

(v) The monomer in orlon is

220 | / E-235 4 NRTW RN RO PT.O.



& e g[ R 1 X5=5

g -

(i) sﬁz;a?r Y @) EE-IT @I

(i) @@ e (@) eitdfET e

(i) forora ot (M) STEEd

(iv) W @ () CaoCl,

(v) Webarse () FAEEBAES
(%r) NaCl

Match the pairs :

AN "R
(i)  Schottky defect (a) buna-rubber
(ii) gold number (b)  thermosetting plastic
(iii) bleaching powder (c) Isoprene
(iv) natural rubber (d) CaOCl,
(v) Dbackelite (e) lyophilic colloid
() NaCl
UF g H suy fufEuw o 1x5=5

(i) Wﬁaﬁmwﬁmﬂw%ﬁam
(i) oméitraw e fafag)
(iii)y Tifpar & e 39 wgaa € 9@ WEA &l T faRaw)
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(iv) #eH fom & whevll & fig TR ¥ @ @ e e wd o §7
(v) EHH eigaf & @O wEra: OhF B ¥ i

.Answer in one word :

(1)  Write the radius ratio for tetrahedral void.

(i) Write the Arhennius equation.

(iii) Write the name of the process used for refining of ni;:kel.

(iv)  Which gas is filled in the balloons used for meteorological experiments ?

(v) The salts of transition metals are generally coloured. Why ?

afy Tgge W N, ® 293K W e ¥ & yarid fear wo dr s
frer o & fee frefeiie N, f foera &0f 72 N, @1 aiifie arg
0.987 A & @4l 293K W N, % forg ¥ Rertiss K, & 79 76.48 qX &)

If nitrogen gas N, is passed in water at 293 K, then how many milli mole
N, gas will be soluble in one litre water ? The partial pressure of N, is
0.987 bar and the value of Henry's law constant Ky at 293K is 76.48 bar.

¥t / OR

298 K W CO, ™ & ww ¥ fmgar & fg 390 Rt o1 W
1.67 x 103 Pa &1 500 ml WsT S/d 2.5 atm 9 YT €T FHar Tl 298 K

A9 9T gull g5 CO, & #H & 7o afg)

Henry's law constant for CO, in water is 1.67 x 108 Pa at 298 K. Calculate
the quantity of CO, in 500 ml of soda water when packed under 2.5 atm
CO, pressure at 298 K,

(=)
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‘Write the IUPAC name of the following coordination compounds :

aftrsiewr & wiovsfus aaardy war ¥ 7

What are Freundlich adsorption isotherms ?

1 BT & wale -

(i) weyr fAtor 4w daEd fquas §f@ ¥ A T B &7

syqar / OR

(i) @@ & ¥ faga o vafka & W ¥ ?

What happens when

(i) Beam of light passes through a colloidal sol ?

(i) Electric current is passed through sol ?

frafafaq e ol ¥ AT uig H HHO qUT ST B SN AT

wIfafa w1 IwE aifwe -

(i)  [Ni(Cl),J*
(i) [Fe(CN)¢]3-

2

Mention the hybridisation and the geometry attained in the central metal and

complex ions -

(i) [Ni(Ch,]*
(i) [Fe(CN)g]3-

Hyart / OR

frfaiaa SudsEast AR & IUPAC <M fafeag -

(1) Ky[Zn(OH)4]
(i)  [Ag(NHz),] [Ag(CN),]

(i) K5[Zn(OH),]
(i) [Ag(NHj),] [Ag(CN),]
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frfafaa @t aftwn fafag

(i) e g9
(i) Aear
(iii) #HrEan

Write the definition of the following :
(i) mole fraction
(i) molality
(i11) mol;lrity
s / OR

TH Yued & H ¥ FaReE CHCL, afta ofe sigfeal o oy ¥,
W 5 FEtHe dEEeE Bl ¥ 3 sigfedl @ d9w 15 ppm (FeaWE
& gfe @)

(i) 38 zewn™ wiyya ¥ sgizg
) oW b 5@ TR F aEwE B dewar s R |

In a sample of drinking water, many impurities are found including
chloroform CHCl,, which are carcinogenic. The level of these impurities was

15 ppm (according to mass)
(i) Show it in mass percentage

(i) TFind the molality of chloroform in this sample of water.
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fefaiaa sifufeparet &1 gof @ifm - 3
(i) RCN + 4 _ LiAlHy
(i) RNO, + 1 —SWHCL +
Complete the following reactions —
() RCN + 4p __ LiAlHy
(i) RCONH, + Bry + 4KOH —— + + +
(iiiy RNO, + H —SVHCl | +
syt / OR

() T oEgeked T @ eben gEd & edl &)
(i) wfw wim & faeem o faeaw a@iigs gd W |
(iii) Tlepel ¥@Ee & O oUERA ¥ S WHM M BiSA S|
Explain the reason -
(i)  Aniline is a weaker base than cyclohexyl amine
ii) Silver chloride dissolves in methyl amine solution

Y
(iii) It is difficult to prepare pure amine by ammonolysis of alkyl halide.
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11

et omg dur U fagfemter @r e ¥ 7 3

What are Zwitter ion and protein denaturation ?
Jyar / OR

U ofTf BT F ¥ 7 3Ee wew w &7
What is DNA Fingerprinting ? Why it is important ?

Frfafaa siffparell & A <ol & e afufpar ®f qur A 4
feerties @1 gerEAl s @i

(i) 3NOw — NyO ; a1 = k[NOJ?

(i) Hy0,  +3l0+ 2H" - 2H,0() + I3 5 4 = k[H,0,] [I]

(aq)
(iiiy CH3CHO@) — CHyyy + COypy 5 31 = k[CH;CHOJ3”2
(iv) CoHsClgy — CyHyg) + HCly ;& = k[C,HCl]

Find the order of reaction and the unit of rate constant for the following
reactions by their rate expressions —

(i)  3NOyy — N,yO, ; Velocity = k[NOJ?

() HyOp . +3Iq) +2H" = 2Hy0() + 13 : Velocity = k[H,0, [I']

(aq)
(iii) CH3CHO) — CHygy + COyy 5 Velocity = k[CH;CHOJ?2
(iv)  CoHsCliy — CyHyqg) + HCl) 5 Velocity = k[C,H,Cl]

asua / OR

frg aifg o yam Fife & sfufear & o egeE sifeRe @ Wit
gigar wx e T @

Prove that the half life period for a first order reaction does not depend on
the initial concentration of reactants.
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12 9RRET TR & oo e ¥ e% 9 erederd IO B et 4
GHIHOT ERT T9E3T |

Explain with chemical equation any four oxidative properties of potassium
permanganate in acidic medium.

s / OR ‘
W W At % al A Preife i % ofadw @ fdem @R -
() wvEE et
(if) S WT
.(iii) uTferh W&l
(iv) SmediETor araemd
Discuss the changes in the following properties of the first transition series
(i) Atomic radii
(i) Ionisation energy

(ili) Metallic character

(iv) Oxidation states

13 ufwew doEs § TR S SRR oRmen B O 37 sad) 4
fpafafr i)

How does nucleophilic substitution reaction occur in alkyl halide ?
Give its reaction mechanism.

syt / OR

i afefr B @ ¥7 e wdfi e Praw @1 e @R

What is Elimination reaction ? Mention Saytzeff's rule associated with it.
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Ueied dur fedia 7 sfav fafag

Write the differences between alcohol and phenol.

dqyar / OR

Uepled auT sHUl $oX ¥ UEam $¥ w7

How to distinguish between alcohol and di-cthyl ether ?

wT EAT § W9k

FORGIICANEC o0 S T 1 1

() TS

(i) eI

(iii)y LiAlH, g
(iv) Na-Hg/H,O ara
What happens when —

Reduction of ethanal takes place —

(1) Clemmensen
(i)  Wulf-Kishner
(iii)) By LiAlH, and
(iv) by Na-Hg/H,0

Jyar / OR

frafafaa sifuftearsl & wamfie wfieor fuRae -

(i) dvsAgy erffpar
(i) ®ea arfufemar:

(iii) ®RAR SEmEEs srffean
(iv) EEer s

Write the chemical equations for the following reactions :

(i) Sandmeyer reaction

(i1) Stephens reaction
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(iii) - Hoffmann Bromamide reaction

(iv) Haloform reaction

S’

(a
(b)

(a)
(b)

(@)

(b)

(a)

(b)

220

'?LEH“L) =349.6 Scm? mol ! T )"(

B & O ® om0

0.025 mol L™ Hi¥i§e oy & wreawar 46.15 Sem? mol-! 4 _
gaan RS A e Redee Redis @1 oReaw @) Rar mar -

=546 Scm? mol™!
HCOO_)

Define Kohlransch's law.

The conductance of 0.025 mol L~! methanoic acid is 46.15 Sem?2 mol-!.
Calculate its degree of dissociation and dissociation constant. Given that

http://www.mpboardonline.com

lEH+)£349.6 Sem® mol™! and KE

—54.6 Sem? mol™!
HCOOﬁ)

dqYar / OR

A Rortin frd wed ¥7 R o @ A0 Ruds ¥ e @
TEYE? ' |

298 K W U e d fed 0,001 M KCl e ¥ @y shid

15000 %, afr 0.000 M KCl fyaaT 9 am@ar 298 K 9T
0.146 x 1073Sem™! & af 4w Red®w @ &7 '

What is cell constant ? What is the relation between specific
conductivity and cell constant ?

The resistance of a conductivity cell containing 0.001 M KCI,
at. 298 K is 1500 Q, if the conductance of 0.001 M KCIl solution
at 298 K is 0.146 x 103 Scm™!, what is the cell constant ?
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17 weRgia snd & o o dod fafn @ Frafafea fagell & adw @fmg 5
() wuah fafy & e
(i) wI w1 AMiiea o, g% ger W qur fearel @ e
Describe the contact method for the manufacturing of sulphuric acid under
the following headings :
(i) Principle of contact method
(ii) Labelled diagram, its main components and description of the reactions.
dyat / OR
srtfwan fmfor at Ray faft & sfufrorelt &1 womafre wiiewtor o
mﬁmaﬁ‘a@mmﬂmﬁaﬁﬁml
Give the chemical equations for the reactions and the labelled diagram for the
manufacture of ammonia by Haber's process.
18 (a) @ gRT&Sdl & I I 9 FH fafaq 5
(b) () S
(i) g qur A - ofwedfy dvei F Wik meal & AW quUr oy
suam fafaq)
(a) Write two examples and formula of food preservatives.
(b) Write the names of active components and medicinal usage of
(i). Aamla
(ii) Tulsi and
(iii) Neem
Ja / OR
220 | / E-235 14 | IW0CAATAR AT PT.O.




(@) & et FEH F T fyRen)
(b) e FESE T E? wde o e AR

(a) Write name of two analgesic medicines.

(b) What are synthetic detergents ? Give example of its each type.
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